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General Instructions:

(i) Question paper comprises five Sections — A, B, C, D and E. There are 34 questions in
the questionpaper. All questions are compulsory.

(ii) Section A —Question 1to 21 are MCQs of 1 mark each.

(iii) Section B — Question no. 22 to 27 are Short Answer Type Questions, carrying 3
marks each.Answer to each question should not exceed 60-80 words.

(iv) Section C - Question no 28 to 30 are Long Answer Type Questions, carrying 8 marks
each. Answerto each question should not exceed 300-350 words

(v) Section D — Question no.31 to 33 are Source based questions with three sub
guestions and are of4 marks each

(vi) Section-E - Question no. 34 is Map based, carrying 5 marks that includes the
identification andlocation of significant test items. Attach the map with the answer
book.

(vii)(vii) There is no overall choice in the question paper. However, an internal choice
has been providedin few questions. Only one of the choices in such questions have
to be attempted.

(viii) In addition to this, separate instructions are given with each section and question,
wherevernecessary.
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SECTION-A
Who among the following was the first Director General of Archaeological Survey of
India (ASI) ?
(a) R.E.M. Wheeler (b) John Marshall
(c) Daya Ram Sahni (d) Alexander Cunningham

fafarad 7 9 ®F YRE RIdd e (TeH3TE) & Ugd HelHeRId o7
(@) R3.TH. BITR (F) S AR
(1) GTT XH TTEAT (9) 3ciaoiex b

Which of the following options accurately describes the significance of the Sangam
Age in the context of literature?

(a) It marked the introduction of Sanskrit literature in South India.

(b)It was a period of decline in literary activities in Tamil Nadu.

(c) It witnessed the flourishing collection of ancient Tamil literature.

(d)1t was characterized by the dominance of Greek literature in India.
Fafaied & § @ 1 fased Tfied & Ha T T I & Hed &1 I qui-
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(@) 3T &0 YR H WXPpd g 1 Y31 Bl Fafgd faarl

(@) g8 aftrarg o wifefdre nfafaftrt § fikrae &1 R ol
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Read the following statements about the Indus Valley Civilization :

(i) Early and mature Harappan culture shared subsistence strategies.

(i) Millets have been found from one of the Indus Valley Civilization sites.
(ii1) Archaeologists have found evidences of a ploughed field at Kalibangan.
(iv) Archaeo-zoologists reconstructed dietary practices from charred grains.
Choose the correct option :

(@) (i), (ii) and (iv) (b) (i), (iii) and (iv)
(©) (i), (ii) and (iii) (d) (i), (iii) and (iv)
¥y a1t Twgar o aR § FafaiRad syl &1 ufeu :
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() (i), (i) SR (iii) (d), (i), (iii) 3R (iv)

Identify the best reason for considering King Ashoka as ‘Devanampiya’ or
‘Piyadassi’ by his subjects.

(A) Asoka commissioned the edicts himself.

(B) He adopted the title of ‘Devaputra’.

(C) Epigraphists have concluded him as Devanampiya.

(D) He worked for the wellbeing of society through Dhamma.
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Identify the character of Mahabharata with the help of following information :
She belonged to Rakshasa clan.

She was married to Bheema.

She was the mother of Ghatotkatcha.

(a) Bhilni (b) Subhadra

(c) Draupadi (d) Hidimba
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Which of the following statements regarding the roles played by women in agrarian
society is incorrect?

(a) Women sowed, weeded, threshed, and winnowed the harvest.

(b) Women worked shoulder to shoulder with men in fields.

(c) During some days of the month women were not allowed to touch the plough.
(d) Women took the produce to the overseas markets for trade.
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Consider the following statements regarding Buddhism and choose the correct option.
I. The concept of Bodhisattva is central to Hinayana sect of Buddhism.

I1. Bodhisattva is a compassionate one on his way to enlightenment.

I11. Bodhisattva achieve nibbana for personal salvation.

Options (a) Il & I (b) I &Il © 1 &Il (d) 1 & 111

g ¥ & IR 7 Faffed Sy iR AR ¥ ok 98! fabea T |
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fadwed (a), 11 & 111 (b), 1 & 111 (c), 1 & 11 (d), | & III

Two statements as Assertion (A) and Reason (R) are given below. Read them
carefully and answer the questions that follow :

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is the correct
explanation of the Assertion (A).
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(b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the correct
explanation of the Assertion (A)

(c) Both Assertion (A) and Reason (R) are not correct.

(d) Assertion (A) is correct, but Reason (R) is incorrect.

TUFHYT (A) 3R BRUT (R) & €9 H &l S 1 AT T § | ST AFYdD
3T HIFY 3R 39 TR e Ui & IR SHfor -

© @rf\uw%q(m 3R BRI (3R) T T8 § 3R HRUT (3R) HHBYT (T) HT et
WEHUT B |

(&) T 3MfHBYUT (T) SR BRUT (HR) el 8, Al DRI (3R) SHHHU (T) I
e WS e 8

(c) TBHUT (A) 3R BRI (R) ST el T8I 3

(d) 3IfBYT (A) Ta! B, AT BRI (R) T & |

8 | Assertion (A) : Francois Bernier has called the Mughal king as the king of barbarians .
Reason (R) : Crown ownership of land was its reason.
HYF (A): b Isd IR A TFTe IS B Falk AN BT ST BT g | HRUT (R): YW
DT G Wi SHD HRUT UT|
9 | Assertion (A) : Mirabai was the woman poet of Nirguna Bhakti tradition.
Reason (R) : She has been recognized as a source of inspiration for centuries.
HYT (A): FRTETS 01 Hidd TRORT &1 Al dwaraat |
BRI (R): 35 Tledl I ORUM & Fid & &Y H UgdHT ST 36T 5 |
10 | What do you understand by the term Khud-Kashta?
(a) Peasants who were residents of the village
(b) Non-resident cultivators
(c) Revenue collectors
(d) Head of jati panchayat
GS-PTY Toq Y 3T T IH 87
COERIEIRICEAREIRIR)
(@) SR >
(1) eI g dl
(9) STTfd Ui T T
11 | A forest-dwelling or a hunting community is called
(A) Nishada (B) Chandala (C) Suvarnakaras (D) Shudras
g1 IR TH&E Hedrdl
(@) e (a) 9ieTd (1) auieR (4) &
12 | Which of the following statements is incorrect?,

(a) According to Ibn Battuta, the nut of the coconut tree looked similar to a man's
head.

(b)  According to Bernier, the Indian peasantry was exploited by the landlords.

(c) Abdur Razzaq is perhaps the only historian who provided a detailed account of
the working of the imperator works.

(d) Battuta gave a detailed account of slavery in India




FOfRad o ¥ D19 A1 HU TTed 67
ms&w% IR, AT & US &1 SRR Th HTeH & RR & 99 feaar

(@)aﬁwés&aﬂw SHeRT gRT YR foami o1 2yor fasar 7 T

() 31eGR ISP YTIE THHH SBTIBR ¢ 961 SFIRER 1T b b1H 1 [
faa=uT yaH faar 3|
() ST+ YR H GRId] &7 g fqaRor fear
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Select the correct pair from the following options :

(a) Mahatma Gandhi President of Constituent Assembly
(b) Jawaharlal Nehru Lawyer of Constituent Assembly
(b) Dr. Rajendra Prasad Passed Objectives Resolution

(b) Dr. B. R. Ambedkar Chairman of Drafting Committee

fgferiad fawedl 7 ¥ I8! SIS &l Ig i ;
(@) Here e, Sfagm Ty o siege

() STATERATd A8 UfAUT IHT & dbid

() ST i< UG A 2= Jdved Uikd faa
(d) SI. 1. 3R, ITASHR URSY I & e

14

The ruins of Hampi were brought to light in 1800 by
(a) Alexander Greenlaw. (b) Colonel Colin Mackenzie. (c) Fernao Nuniz. (d) J.F.
Fleet.

g & WS DI 1800 H BT H AT 1T UT
(@) FieR WTAT | () H1dl difer Habwil | (c) B AR (d) 3T,
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the chronological order of the events of the Revolt of 1857 :

I. Subsidiary Alliance introduced by Wellesley in Awadh.

I1. Nawab Wajid Ali Shah deposed.

I11. Summary Revenue settlement introduced in Awadh by the British.
IV. Mutiny started in Meerut.

Options:

@1, 1, land IV
(b) I, 11, IV and |
(c) i, 11, Tand IV
(d) 1V, I, 11 and 111

1857 & fAGIg DI Te13T BT HIATIH D HH:

1. 3y H doiel] gRT Y o 71 Igridh 36y |

TaTd dTfeig 3ieit AM1g A TaTg! ol |

1. TR IoRG THSIAT 35T gRT a8 H IR fovar |
IV. RS H fdgi8 = gal|

@) 1, 11, 111 3R 1V
@) 11, 111, 1V 3R |
an LI, 1 3R 1V
&) IV, 1, 11 3R 111
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Find out which of the following is not correctly matched?

(a) Virupaksha Temple: Lord Shiva/Pampa path

(b) Hazara Rama Temple: Mathura

(c) Vitthala Temple : Lord Vishnu

(d) Mahanavami Dibba: King’s palace

T1d B 3 Frafeiad & @ foraeT e firem 72t frar mar 82
@) foeurer wieR: e fRra/gw arf

(%) TR W HR: AR

() faga wfeR: rar fawy

(@) HeHaH! fsdT: ST &1 Hgd
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Compare and contrast the impacts of the American Civil War on cotton production in
India and the United States. Choose the best suitable option from the following.

(a) Both countries experienced a decline in cotton production due to the war.

(b) India’s cotton production increased while the United States experienced a decline.
(c)The United States saw increased cotton production while India's remained stagnant.
(d) Both countries saw a surge in cotton exports during the war period

HRA 3R T 34 AR H HUN IdTe- W MRS T8gg & THTE! Bt
T 3R SR & | Fafafed o 9 Ted Sugad fadwed g |

(@) I B SR I oRN H HUYRY SdTg- § FR1Ge S|

(F) YRd & HUN SdIG J 3ig g5 odid 3HRIHpT § R1ae 3 |

() gerd T SARST A HUR Idre- § 9ig ¢dl, Safd YRd fRRR @
(&) T o=M A 5 fafd & SR HUN fFardl 8§ gfg o |
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Why did the rebellion in Awadh become a symbol of resistance against British rule?
Choose the best suitable option from the following.

(a) Due to the region's economic prosperity under native rule

(b) Due to the displacement of Nawab Wajid Ali Shah and talugdars

(c) Due to favourable land revenue policies towards the peasantry

(d) Due to Awadh ‘s central position for organizing rebel forces.

31ay ¥ faxig fofewr A & faars ufoRiy &1 Ui ol o+ e Fefaiad 5 9
e Iuged faddhed g |

() <=M AT & d8d & B D TG & HRUI

() 7TaT aTfoig 37eh }ME 3R AAHER] b [T & HRUT

@1 oot & ufd sHed Y-31eia Aifddl & HRul

(@) TagIE! Sl DI TS B o (o0 3 Fi B A & HRU
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Which of the following represents the correct chronological order of events related to
agrarian developments in India during the 19th century?

(a)The Permanent Settlement in Bengal

(b) The Deccan Riots Commission

(c)The Santhal Rebellion

(d)The Fifth Report by a Select Committee.

FOfRId o ¥ D14 9T 19 oY WdTeal & SR YRA B $HY bR I Heifdd gersi
& B! BIATIH D HH BT Ufa1d BT 82

(@) STa H it dered

() Gah I AN
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Which of the following leader felt that the use of Hindi language as the language of
Constitution?

(@) R.V. Dhulekar (b) Mahatma Gandhi

(c) Jaipal Singh (d) B. Pocker Bahadur.

Eﬁfmﬁfﬁﬁﬁﬁmﬁmﬁﬁﬁwﬁ U] o = T fget U & IUANT Dl Ty
"

(@) 3R, ol YD (7T) TS Tieh
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Who among the followings declared that separate electorate act as a poison that will
enter the politics of our country.

(a) Subhas Chandra Bose (b) Vallabh Bhai Patel

(c) Mahatma Gandhi (d) S. N. Mukherjee

FrafaRad & 9 forem aivon &t i e Marad Hed Ue ofer & &0 H B Hdl
2 N AR 3 B oI H YA BT |

(@) GHTY % dI (F) oY TS Ucd

() TTeT et (9) . T, ol

SECTION B (Short-Answer Type Questions) 6*3=18

22

“The archaeological records provide no immediate answer to the Harappa’s
central authority”. Analyse different views given in the same.

"RIATA® RBIS TSHT & Had WIIHRUI Dl Py dabId Sd1d ol od o". Th
g1 1 fau U faf¥i faaR] o1 fazewor &1 |

Tse FIfST foh gg0ur ToRT T 319aTg cgaedT fhd YR R faisteT &
Tohd Sl g

Explain how the drainage system of Harappan cities indicate town planning.

WY HITE b T8WT & TRI I 3UdTE TIRIT TR HaeH &l g IHR
SCERGIR

23

Mahabharata is a good source to study the social values of ancient times. Support
this statement with suitable arguaments.

HEIHRA U S1d & ATHIIS Hed| B 37e0a HR- B Udh BT HId 5|
JUgad AP & 1Y 3T HYF BT IHYT B |

24

“Ibn-Battuta was full of excitement to know about the unfamiliar.” Give reasons in
favour of the statement.

ggqamm&%m%aﬁﬁamﬁ%%um@rwwmm%%ﬁw
|

25

During the Mughal Empire 16™ and 17" century “there was a direct correlation
between caste, poverty and social status at the lower strata of society”. justify the
statement. Or

“Revenue was the economic mainstay of the Mughal Empire”. Explain the
statement in the context of agriculture and trade.
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T ITHTeY 1641 3R 1741 TdTed! & SR "THIS & fAad ddd § i1, TRIst
grTfoTe fRufa & st dter Tdy o1 | 9aaed o1 Siifac Rig wifsre) T8t ar
"RTOTRd T T 1 TS T SMUR T | 39 HYH Bl PN U AUR &
Jeo & Wy sifom|

26

Why was the jotedar a powerful figure in many areas of rural Bengal?

JTHIUT ST S 5 ST H SATIGR Teh QAfFdRITell ATEaTd F4T A?

27

“The annexation of Awadh displaced not just the Nawab, but also dispossessed the
talugdars of the region, causing breakdown of an entire social order. Critically
examine the statement.

"3[q¢] o ool - - had -ald o [T fohar, dfeh &5 & diddaR] &1 it
fauTitd R faar, o Te O3t ArHIioTeh sUaRIT ¢ 715 | * U bl
AT TS URI&0T HIfoTT |

SECTION C (Long-Answer Type Questions) 3*8=24

28

D.C. Sircar: “There is no aspect of life, culture and activities of the Indians that is
not reflected in inscriptions.” Discuss.

Discuss the main features of Mauryan administration. Which of these
elements ate evident in the Asokan inscriptions that you have studied?

SR WPR: "HRA! & Sia-, Tpid R AT T Pig ggq Tal § ol
Rremeral #f ufvaféa T8 glaT | | = Sl

A IR &t U faRwarsii &1 faaam i 3o o srene Rraraat
BT 3T fopar g, I7H 398 A I I Td WY 2

29

What do you think was the significance of the rituals associated with the mahanavami
dibba?

What are the architectural traditions that inspired the architects of Vijayanagara? How
did they transform these traditions?

3T &1 AT | Toh AHaH! fosal ¥ IS SIS &1 1 7 ed UT?

ISR & aRgHRI BI YR HRA aTelt RITTT TRIRTE FT 82 3614 37 ULURISA
1 B JGd 1Gam?

30

In what way did Mahatma Gandhi transform the nature of the national movement?
Or

What are the different kinds of sources from which we can reconstruct the political
career of Gandhiji and the history of the nationalist movement.

%%Trﬁ%ﬁﬁwgﬁn 3ficIer 1 Uepid Pl fobd ke U siad faam
d D14 3 faftre Oid § o g Tiefiofl & Torifies Sitae 3R Ayard] stigiad &
3T &1 g0 HR gHhd | |




SECTION D (Source-Based Questions) 3*4=12

31

Why were Stupas Built?

This is an excerpt from the Mahaparinibbana Sutta, part of the Sutta Pitaka. As the
Buddha lay, dying Ananda asked him “What are we to do Lord, with the remains of
the Tathagata (another name for the Buddha)?” The Buddha replied, “Hinder not
yourselves Ananda by honouring the remains of the Tathagata. Be zealous, be intent
on your own good.”

But when pressed further, the Buddha said, “At the four crossroads, they should erect
a thupa (Pali for stupa) to the Tathagata. And whosoever shall there place garlands or
perfume.... or make a salutation there, or become in its presence calm of heart, that
shall long be to them for a profit and joy.”

(31.1)Why were the stupas built?

(31.2)What Asoka did with the relics of Buddha?

(31.3)Describe the structure of the stupas. (All India 2009)

WU i §1E T A7

Wﬂﬁﬁ%% N HETIRSIH I &1 U 32 g | 96 g dc 8¢ &, AR §U
3T A 3T GBI, "I (& BT GERT A1) b SR % T T T BT 27"
WA g A SR fQ1- TUNTT & SRS} &bl T B 33 Pl 14D T
TS | ST S, 10 ¥ o Sfa TR SRIGT Y |

cifch=T ST ST a7 ST 1T, 1 e o HeT, IR IRTE] R, 3¢ qUNTd & forg v

YU (9  forg ureth) ST MR SR St IS+t 9T Aren a1 5 7@ . AT -]
AHEHR BRI, T 3G e mﬁms‘rw,\‘rﬁwuaﬁ?&mé%ﬁm
ferd rafg g

(32.1) WU T ST 7T &7

(32.2)3MRNb - g b IR ob 1Y AT fobaT?

(33.3) WUl B TG BT qUH BT

32

Read the following source and answer the questions that follow: The story of Data
Ganj Bakhsh In 1039 Abu’l Hasan al Hujwiri, a native of Hujwir near Ghazni in
Afghanistan, was forced to cross the Indus as a captive of the invading Turkish army.
He settled in Lahore and wrote a book in Persian called the Kashful- Mahjub
(Unveiling of the Veiled) to explain the meaning of tasawwuf, and those who
practised it, that is, the sufi. Hujwiri died in 1073 and was buried in Lahore. The
grandson of Sultan Mahmud of Ghazni constructed a tomb over his grave, and this
tomb-shrine became a site of pilgrimage for his devotees, especially on his death
anniversary. Even today Hujwiri is revered as Data Ganj Bakhsh or “Giver who
bestows treasures” and his mausoleum is called Data Darbar or “Court of the Giver”.
(32.1). Name the book written by Abul Hasan al Hujwiri.

(32.2). When did Abul Hasan die and who built his tomb?

(32.3). How is Abul Hasa revered today?

fgferfad 9id o ufeu 3R = feu oyl & IR SfTe: gran 7 s ot
HEMT 1039 T B H o1 & U goldR & Yol fart S g9+ 3fd
EOITAR] I GHATEGR D! AT & dal & =0 H Ry UR = & I8 Aore fovam
7| 98 AIER H o9 U 3R BRI & U foheTd fordl, ol #R1pd-Heald (Juce &1
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3{TARUT) HET ST &, Sl T DI 3 T o 1o 8, 3R S AN Sl

3T Hd §, T G| 1073 T g &1 GG 81 T3 3R 3= AleR H SHAM

7| TS & o HeHE & UId o 31! B8l TR Udh HHERT §a1T 3R T8

AhaRI-d1Y I Had! o foTU AT &1 RId &9 74T, WS 31! Juaiaid ||

3{TST it oI I ST Tiol §R6RT AT "Fol P UG HRA d1d Gl & &9 |

gﬂ:ITﬁ?[ﬁ'TCITGI'IﬁT%GﬁTdda? HhaR & GIdl GRAR AT "GTdl BT GREAR" Dl STl
|

32.1. 3qd g9 3{d gollas] gR] feiRdd Ydeh &1 =19 9d1gu|

32.2. 3 89 1 g Fd g3 3R ITP! B fHha T2

32.3. 3Tl 3 YT D1 FIT HH 52

33

Read the given source and answer the questions that follow : 1+1+2=4

ft the mischief Sardar Vallabh Bhai Patel said :

It is no use saying that we ask for separate electorates, because it is good for us. We
have heard it long enough. We have heard it for years, and as a result of this agitation
we are now a separate me one free country where there are separate electorates ? If so,
| shall be prepared to accept it. But in this unfortunate country if this separate
electorate is going to be persisted in, even after the division of the country, woe betide
the country; it is not worth living in. Therefore, | say, it is not for my good alone, it is
for your own good that | say it, forget the have left the mischief behind. We do not
want to perpetuate that mischief. (Hear, hear). When the British introduced this
element they had not expected that they will have to go so soon. They wanted it for
their easy administration. That is all right. But they have left the legacy behind. Are
we to get out of it or not ?

(33.1)Why are separate electorates considered as a mischief?

(33.2)State the arguments given by Sardar Vallabh Bhai Patel for building
political unity and forging a nation.

(33.3)How did the philosophy of separate electorates result in a separate
nation?

]%QTFQ@HEI?[CI%Q sﬁvﬂ%%qwmﬁ$waﬁﬁﬁr: 1+1+2=4
AR TeRTH TS Ucd 3 el UT:
Ug B BT HIg BIGl 7ol & [ 81 YU (Halas Hed &t AT ovd &, Fifh I8
AR foTE 33T 8 | T 34 HI%! de AT ab AT 8 | 9 34 I8 9 gd 38 &
3R 39 3fiiad & IRUMRIEY 3(d §H Th YU 3R Udh Wad o § oIal GUdH
fafa® Hed g1 A gf, O & 58 WeR o3+ & A IR g | i 39
guigul g1 1 afg g1 o fquTsH & a1g ff gus
fafa® Hed B §1Y @1 oIl 8, df &1 IR 81 3Tl §; I8 I8+ a1 1ol g
SHfeT, § gl §, U8 bad TR 37w & fo1U 781 ©, I8 $HTUb U Hol & fou g fob
¥ ug Hedl g, Y o1sil fb IRRA &1 Ui BIS 31 31 89 39 IRRA &1 &IRY g
G AR | (AT, AN | Sd SIS A 39 ded 1 UR1 fbar at Sgi WG 5] &l
o} fob I8 S+ STea! ST BT 9 U 3T S YRR o folt argd 31 U8 3l
%@Wﬁﬁwﬁ%@sm%l 1 gH 3T a1eR e =nfeu an

?
(33.1)9eh el &= b1 BT T HIT STl &7
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(33.2)¥RER deaiH HIg Ucd gRT Al Tbdl o (A0 3R Y A0 & forg

f3T U b |
(33.3)74e FaifId] & G-I BT URUIH T T IIF & TU H HY (b

SECTION E (Map-Based Questions)

34

(34-1) On the given political outline map of India, locate and label the following with
appropriate symbols :

(i) Kannauj Ashokan Inscription

(i1) Rakhigarhi Mature Harappan site

(i) (a) Rajgir - The capital of early State of Magadha.

OR
(b) Delhi - Capital of Mughal Empire.

(34.2) On the same map, two centres related to the Revolt of 1857 are marked as A
and B. ldentify them and write their names on the lines drawn near them.
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